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Multiple Choice (40 Points)
1.
 You decide to go skiing this weekend. It costs $50 for transportation, $50 for lodging, $30 for ski lift tickets and you could have earned $100 as a waiter. What is the total cost of the ski weekend? You would quit your job if they paid one penny less. 

A)
$230    B)  $130    C)  $100    D)  $80 

You would quit your job if they paid one penny less implies that there is so much disutility associated with your job that it confers no net benefit, therefore the opportunity cost of no going to work is zero.
2.
You decide to go skiing this weekend. It costs $50 for transportation, $50 for lodging, $30 for ski lift tickets. You are unemployed. What is the total cost of the ski weekend? 

A)
$230    B)  $130    C)  $100    D)  $80 
3.
You decide to go skiing this weekend. It costs $50 for transportation, $50 for lodging, $30 for ski lift tickets and you could have earned $100 as a waiter at a job you love so much you would do it as a volunteer. What is the total cost of the ski weekend? 

A)
$230    B)  $130    C)  $100    D)  $80 
This is a twist on question 1.  Now there is a net benefit of going to work and its value to you is $100.  Therefore missing work has an opportunity cost.
4.
A new discovery makes ink jet computer printers less expensive to produce. At the same time another type of computer printer, the laser printer, also becomes less expensive. What would you expect to happen to the equilibrium price and quantity of ink jet printers? 

A)
Equilibrium price will rise, but the effect on quantity is uncertain. 

B)
Equilibrium price will fall, but the effect on quantity is uncertain. 

C)
Equilibrium quantity will rise, but the effect on price is uncertain. 

D)
Equilibrium quantity will fall, but the effect on price is uncertain. 

E)
The answer cannot be determined from the information given above. 
5.
Let demand be given by P = 20 - 3Q and supply by P = 5 + 2Q. Equilibrium quantity will be 

A) 5.    B)  3.    C)  11.    D)  none of the above. 
6.
If the consumer's budget constraint is given by 10F + 5S = 100 where F is food and S is shelter, what is the opportunity cost of food in terms of shelter? 
A)
5.    B)  2.    C)  .5.    D)  10.    E)  none of the above.
7.
A diminishing marginal rate of substitution implies that indifference curves are 
A)
convex    B)  Concave    C)  straight lines.    D)  Possibly all of the above. 
8.
Economists usually do not favor subsidies on specific products or in-kind payments to help low income people. This is because 

A)
a subsidy means that the recipient does not face a budget line anymore and therefore can not maximize his welfare efficiently. 

B)
economists are individualists who believe that helping the needy makes them dependent. 

C)
the poor person could have increased utility if the same money used to subsidize a product would be given to them to use as they choose. 

D)
in-kind payments suggest that the poor person does not have an indifference curve pattern from which to make choices. 
9.
If all consumers are perfectly rational according to microeconomic models they should 

A)
all have the same marginal rate of substitution. 

B)
always buy more of the least expensive good. 

C)
all end up with the same bundle of goods. 

D)
all have the same level of satisfaction. 
10.
For demand function P = 24 - 6Q 

A)
demand is elastic at price 16. 

B)
demand is elastic at price 12. 

C)
demand is elastic at price 2. 

D)
demand has unitary elasticity at all points on the function. 
11.
The price consumption curve shows us 

A)
whether we spend more or less on a commodity when its price changes. 

B)
the changes in nominal income that occur for a price change of a good. 

C)
the substitution effect of a price change. 

D)
none of the above. 
12.
  An Engel curve 

A)
always slopes up for an inferior good. 

B)
always slopes down for an inferior good. 

C)
may slope up or down for a normal good 

D)
does not relate to the normal or inferior good concepts. 
13.  
The substitution effect is 
   A)  always greater than the income effect.        C)
never greater than the income effect. 
   B)  always less than the income effect.             D)
none of the above. 
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14. Refer to Figure A, above.  Which of the following price-quantity data would not be part of the demand curve derived from the graph above? 

A)
price = 0, quantity = 10 
C)
price = 4, quantity = 14 

B)
price = 10, quantity = 5 
D)
price = 2, quantity = 12 
15. Refer to Figure A, above.  In the graph above, as the consumer moves from indifference curve 1 to 3, his 

A)
real income is constant and his nominal income is rising. 

B)
real income is rising and his nominal income is constant. 

C)
real and nominal income are rising. 

D)  real and nominal income are falling, but the consumer can buy more anyway

16.
The income elasticity of a Giffen good 

A)
is positive. 

B)
is negative. 

C)
is zero. 

D)
can not be specified without more information. 
17.
In the long run 

A)
all inputs are fixed. 
C)
all intermediate goods are fixed. 

B)
only capital inputs are fixed. 
D)
all inputs are variable. 
18.
The nineteenth-century British economist Thomas Malthus argued that the law of diminishing returns implied that 

A)
capital would increase relative to labor. 

B)
technological change would grow at an increasing pace. 

C)
eventual misery would befall the human race. 

D)
raw materials would eventually run out. 
19.
When the marginal product curve lies below the average product curve, 

A)
the average product curve must be falling. 

B)
the total product curve must be falling. 

C)
the average product curve must be rising. 

D)
the marginal product curve must be rising. 
20.  
On this quiz for this course you can study for up to four hours  If you don't study at all you will get a 70. One hour would give you an 80, the second hour increased your score to 89, the third to 92. If you studied the fourth hour your score would be 87. In which hour did diminishing returns set in? 

A)
The first because the score was the lowest of the studying options. 

B)
The second because your gain is less than the previous hour. 

C)
The third because your score peaked there. 

D)
The fourth because you had a drop in points in this hour. 
Problems (20 Points Each)

1.  You go to a carnival in town intending to purchase rides for your children. When you get there they have an offer where everyone's first two rides are free. They obviously hope that the free rides will end up making them more money in the long run than if they charged for all rides. First, show on an indifference curve and budget line graph a solution that would make the free rides a bad idea for the company. Then, on a second graph, show a possible situation that would make the giveaway a success that should be repeated. 
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Prior to the freebie each household bought one ride.  With the institution of the freebie each household uses the two free rides and makes no purchase.
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In this figure the family buys one ride before the freebie offer.  Once the freebie offer is instituted the family takes 6 rides: 2 are free and they pay for four.
2. Connie allocates $200 of her monthly food budget between two goods: meat and potatoes.
a.  Suppose that meat costs $4 per pound and potatoes cost $2 per pound.  What is the greatest quantity of meat and potatoes that Connie can buy?

Meat _______50_________________      Potatoes _________100________________

b.  Draw a sketch of Connie's budget constraint.  Put Meat on the horizontal axis.  Be sure to include labels on the axes.  Be sure to show the numerical values of the horizontal and vertical intercepts.
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c.  What is the value of the slope of Connie's budget constraint?  ____-2____________

d. Connie's utility function for meat and potatoes is given by u(M,P) = 2M + P. Given her utility function, what is Connie's Marginal Rate of Substitution?

MRS = __________2_______________ 

e. What combination of meat and potatoes will maximize Connie's utility?

Meat __________________________   Potatoes _____________________

Since utility and the budget constraint are both straight lines and the slope of the budget is equal to -MRS, any M, P pair that lies on the budget will do.
Essay (20 Points)  Your answer will be graded for spelling, grammar and syntax as well as substance. It is virtuous to be clear and concise.
A political campaign manager must decide whether to emphasize television advertisements or letters to potential voters. Describe the production function for votes. How might information about this production function (such as the shape of isoquants) help the campaign manager to plan strategy?

The production function takes the form of # of Votes = f(Letters, TV Ads).  Considerations that can arise from specification of the production function are:

Shape of isoquants - MRS - How can the manager substitute between L and TV?

Returns to scale - What will happen to votes when we double both the minutes of TV ads and the number of letters?

Are there diminishing marginal returns to either TV ads or letters?  The manager should find the place where MPL/cost per L = MPad/cost per ad. This is analogous to the problem of the consumer.

Output elasticity -  Will a 10% increase in letters, ceteris paribus, generate 10% more votes?  How much will it cost to generate this increase?  Compare this to the same decision for ads.
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